

6. a) The election is not decided.
 b) The election is decided, or the votes have been counted.
 c) The election is not decided, and the votes have been counted.
 d) If the votes have been counted, then the election is decided.
 e) If the votes have not been counted, then the election is not decided.
 f) If the election is not decided, then the votes have not been counted.
 g) The election is decided if and only if the votes have been counted.
 h) Either the votes have not been counted, or else the election is not decided and the votes have been counted.
- Note that we were able to incorporate the parentheses by using the words *either* and *else*.

18. a) If I am to remember to send you the address, then you will have to send me an e-mail message. (This has been slightly reworded so that the tenses make more sense.)
 b) If you were born in the United States, then you are a citizen of this country.
 c) If you keep your textbook, then it will be a useful reference in your future courses. (The word "then" is understood in English, even if omitted.)
 d) If their goaltender plays well, then the Red Wings will win the Stanley Cup.
 e) If you get the job, then you had the best credentials.
 f) If there is a storm, then the beach erodes.
 g) If you log on to the server, then you have a valid password.

24. To construct the truth table for a compound proposition, we work from the inside out. In each case, we will show the intermediate steps. In part (d), for example, we first construct the truth tables for $p \wedge q$ and for $p \vee q$ and combine them to get the truth table for $(p \wedge q) \rightarrow (p \vee q)$. For parts (a) and (b) we have the following table (column three for part (a), column four for part (b)).

p	$\neg p$	$p \rightarrow \neg p$	$p \leftrightarrow \neg p$
T	F	F	F
F	T	T	F

For parts (c) and (d) we have the following table.

p	q	$p \vee q$	$p \wedge q$	$p \oplus (p \vee q)$	$(p \wedge q) \rightarrow (p \vee q)$
T	T	T	T	F	T
T	F	T	F	F	T
F	T	T	F	T	T
F	F	F	F	F	T

For part (e) we have the following table.

p	q	$\neg p$	$q \rightarrow \neg p$	$p \leftrightarrow q$	$(q \rightarrow \neg p) \leftrightarrow (p \leftrightarrow q)$
T	T	F	F	T	F
T	F	F	T	F	F
F	T	T	T	F	F
F	F	T	T	T	T

For part (f) we have the following table.

p	q	$\neg q$	$p \leftrightarrow q$	$p \leftrightarrow \neg q$	$(p \leftrightarrow q) \oplus (p \leftrightarrow \neg q)$
T	T	F	T	F	T
T	F	T	F	T	T
F	T	F	F	T	T
F	F	T	T	F	T